




         




                                      UBH/CT/3A13 

B.Com. (Hons.) DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — III SEMESTER

Major Paper XIII — CORPORATE ACCOUNTING
Time : 3 hours
  

  Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer ALL the questions.

1. Write a short note on forfeiture of shares.

2. How do you deal with profit prior to incorporation in accounts?

3. What is super profit method of evaluating goodwill of a joint stock company?

4. What do you understand by internal construction?

5. Enumerate the special features of compulsory winding up.

6. F Ltd., issued 2,00,000 equity shares of `10 each at  `12 per share. Term of payment being: Rs.2 on application, Rs.5 on allotment, including premium, `3 on first call and `2 on second and final call. Make journal entries upto allotment money received.

7. The trial balance of C Ltd., as at 31st March 2008 shows the following items.

Items





Debit (`)
Credit (`)



Advance payment of income tax

2,20,000
        

-



Provision for taxation for the year




Ended 31-3-2007






1,20,000



The following further information is given:

(a) Advance payment of income tax includes `1,40,000 for 2006-2007

(b) Actual tax liability for 2006-07 amounts to `1,52,000. No effect for the same has so far been given in the accounts.

(c) Provisions for income tax has to be made for 2007-08 for `1,60,000.

You are required to pass the necessary journal entries.

8.
X Ltd., with a share capital of 1,00,000 equity shares of `10 each fully paid  decided to repay its members `2 per share by way of capital reduction. Pass the necessary journal entries.

9. From the following information, calculate the value of an equity share.

(a) The paid up share capital of a company consists of 1,000, 15% preference shares of `100 each and 20,000 equity shares of `10 each.

(b) The average annual profits of the company after providing for depreciation and taxation amounted to `75,000.

(c) The normal return expected by investors on equity shares from the type of business carried on by the company is 10 per cent.

10. Compute Liquidator’s remuneration from the information given below:

Secured creditors : `60,000 (Securities realized `80,000)

Other assets realized `75,000

Liquidator’s remuneration
: 3% on the amounts realized.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Write a note on ‘intrinsic value’ of shares.

12. Explain the requirements for the redemption of preference shares as per sec. 80 of the Companies Act.

13. A Ltd. has an authorized capital of `50,00,000 divided into 5,00,000 shares of `10 each. The company issued 1,00,000 shares for subscription to the public at a premium of `5 each.

The entire issue was underwritten as follows:

A
60,000 shares

(firm underwriting: 10,000 shares)

B
30,000 shares

(firm underwriting:    4,000 shares)

C
10,000 shares

(firm underwriting:   2,000 shares)

Of the total issue, only 90,000 shares including firm under writing, were subscribed for. Marked application forms excluding firm underwriting were as follows:

A
32,000 shares

B
20,000 shares

C
8,000 shares

Calculate the liability of each underwriter giving the benefit of firm underwriting to all underwriters.

14. A company offers 10,000 shares of `10 each to the public for subscription at `12 per share. Money is payable as follows:

`3 on application

`4 on allotment (including Re. 1 as premium)

`5 on call (including Re.1 as premium)

Applications are received for 15,000 shares. No allotment is made to applicants for 3,000 shares and their application money  is refunded. Rest are allotted shares on a pro rata basis. All allottees pay the money due on shares as and when called up.

Pass necessary journal entries.

15. The manager of M/s. S & S Ltd. is entitled to get a salary of `2,500 per month plus 1 per cent commission on the net profits of the company after such salary and commission. The following is the Profit and Loss account of the company for the year ended 31st March 2008.

	Particulars
	`
	Particulars
	`

	To Salaries, wages and bonus
	1,92,500
	By Gross Profit b/d
	9,00,000

	To General expenses
	74,000
	By Subsidy from Govt.
	60,000

	To Depreciation

To Expenditure on scientific research 
(cost of an apparatus)
	82,000

14,000
	By Profit on sale of assets (cost price`2,50,000 and written down value `1,80,000)
	1,00,000

	To Manager’s salary
	30,000
	
	

	To Commission to Manager (on a/c)
	6,000
	
	

	To Prov. for bad and    doubtful debts
	17,500
	
	

	To Provision for income tax
	2,40,000
	
	

	To Proposed dividend
	1,00,000 
	
	

	To Balance c/d
	3,04,000
	
	

	
	10,60,000
	
	10,60,000


Depreciation as per income tax rules amounts to `81,000. Calculate the remuneration payable to the manager.

16. Mr. Govind has invested a sum of `3,00,000 in his own business . The annual profit earned from his business is `60,000 which includes a sum of `10,000 received as compensation for acquisition of a part of his business premises.

The money could have been invested in deposits for a period of 5 years and over at 10% interest and himself could earn `7,200 per annum in alternative employment.

Considering 2% as fair compensation for the risk involved in the business, calculate the value of goodwill of his business on capitalization of super profits at the normal rate of return.

17. The balance sheet of National Industries Ltd. at 31st March, 2000 was as under:

	Liabilities
	`
	Assets
	`

	Share capital
	
	Goodwill
	15,000

	2,000 Preference

shares of `100 each
	2,00,000
	Freehold properties

Plant and machinery

Stock in trade
	2,00,000

3,00,000

50,000

	4,000 Equity shares of `100 each
	4,00,000
	Debtors

Profit and loss a/c
	40,000

2,45,000

	5% Debentures
	1,00,000
	
	

	Bank overdraft
	50,000
	
	

	Creditors
	1,00,000
	
	

	
	8,50,000
	
	8,50,000


The company gets the following scheme of capital reduction approved by the court:

(a) The preference shares to be reduced to `75 per share, fully paid up and equity shares to `37.50.

(b) The debenture holders took over the stock in trade and book debts in full satisfaction of the amount due to them.

(c) The goodwill account to be eliminated.
(d) The freehold properties to be depreciated by 50%.

(e) The value of the plant and machinery to be increased by `50,000.

Give the journal entries.
18. Bawa Private Ltd. went into voluntary liquidation on April, 2009 on which date its 
position was as under:

	
	`
	
	`

	Share capital:

5,000 shares of `100 each, `80 per share paid
	4,00,000
	Land, Building and Machinery

Other fixed assets

Stock
	80,000

2,60,000

1,05,000

	Loans(secured by mortgage of land, building and machinery

Unsecured loans and liabilities (including Preferential dues `10,000)
	1,00,000

2,00,000
	Debtors

Loans

Cash

Profit and loss a/c
	1,00,000

40,000

5,000

1,10,000

	
	7,00,000
	
	7,00,000


Land, Building and Machinery were realized by secured creditors for `1,20,000. Other fixed assets fetched `40,000. Debtors `20,000. Stock `10,000. Loans were wholly bad. The liquidator is entitled to a fixed remuneration of `1,000 plus 2% of the amount paid to unsecured creditors. The liquidator’s out-of-pocket expenses amounted to `1,000.

Show Liquidator’s Statement of Account.
SECTION C — (2 × 15 = 30 marks)

Q. No.19 is compulsory and any ONE from the rest of the two questions.
Case study – (COMPULSORY)
19. A scheme of reconstruction of Southern Stone Company Limited was approved by its shareholders and creditors in their meeting and resolutions to that effect were passed. Afterwards a few shareholders and creditors of the company raised objections against the said arrangements of reconstruction. The entire paid up capital of the company was wiped out by the accumulated losses. Advise the Directors of the said company about the steps to be taken to give effect to the proposed scheme under the Companies Act,1956.
20. S Engineering Ltd. have authorized capital of `50 lakhs divided into 5,00,000 equity shares of `10 each. Their books show the following balances as on 31stMarch, 2004.

	Particulars
	`
	Particulars
	`

	Stock 1-4-2003

Discounts and rebates

Carriage inwards
	6,65,000

 30,000

57,500
	Equity share capital (2,00,000 shares of `10 each)
	20,00,000

	Patterns

Rates, taxes and insurance
	3,75,000

55,000
	4% Debentures (repayable after 10 years)
	5,00,000

	Furniture and fixtures

Material purchased
	1,50,000

12,32,500
	Bank overdraft

Sundry creditors (for goods)

Sales
	7,57,000

2,40,500

36,17,000

	Wages
	13,05,000
	Rent (cr.)
	30,000

	Coal and coke
	63,000
	Transfer fees
	6,500

	Freehold land

Plant and Machinery
	12,50,000

7,50,000
	Profit and loss a/c


	67,000

	Engineering tools
	1,50,000
	
	

	Goodwill
	3,75,000
	
	

	Sundry debtors
	2,66,000
	
	

	Bills receivables
	1,34,500
	
	

	Advertisement
	15,000
	
	

	Commission and brokerage
	67,500
	
	

	Business expenses
	56,000
	
	

	Bank current a/c
	20,000
	
	

	Cash in hand
	8,000
	
	

	Debenture interest (for half year 30-9-03)
	10,000
	
	

	Interest (Banks)
	91,000
	
	

	Preliminary expenses
	10,000
	
	

	Calls in arrear
	10,000
	
	


The stock (valued at cost or market value, whichever is lower)as on 31st March, 2004 was `7,08,000. Outstanding liabilities for wages `25,000 and business expenses `25,000. Dividend declared @ 10% on paid-up capital.

Charge depreciation: Plant and Machinery @ 5%; Engineering tools @ 20%; Patterns @ 10% and Furniture and Fixtures @ 10%. Provide 2% on debtors as doubtful debts after writing off `21,500 as bad debt. Write off preliminary expenses `5,000 and create debenture redemption reserve `50,000. Provide`2,40,000 for income tax.

You are required to prepare: 
(i) Profit and loss statement and 
(ii) Balance sheet as on that date in vertical form.






(Or)

21.
A Ltd. went into liquidation on 31stMarch, 2011 when its position was as under:

	Liabilities
	     `
	Assets
	`

	20,000 Equity shares of `10 each, `8 per share called up
	1,60,000
	Factory shed (`50,000)

Plant and machinery

(`85,000)
	70,000

1,00,000

	Less: Calls-in-arrear
	5,000
	Furniture (`7,000)
	12,000

	
	1,55,000
	Investments (`18,000)
	20,000

	11% Preference shares of `100 each fully paid up
	1,00,000
	Stock (`55,000)

Debtors (`1,50,000)

Cash
	65,000

1,85,000

10,000

	13% Debentures (secured by a floating charge on all assets other than calls-in-arrear)
	75,000
	Preliminary expenses

Profit and loss a/c
	8,000

1,00,000

	Bank overdraft (secured against hypothecation of stock)
	40,000
	
	

	Loan from ICICI

(secured by a second charge on stock and a first charge on plant and machinery)
	1,00,000
	
	

	Trade creditors
	60,000
	
	

	Outstanding expenses
	40,000
	
	

	
	5,70,000
	
	5,70,000



Contingent liabilities:


(i)
Preference Dividends
` 22,000


(ii)
Bills discounted

` 15,000


Estimated realizable values of assets have been indicated in brackets. Three years earlier, the company had a general reserve of `15,000. The company earned a profit of ` 30,000 for one of the three years. `25,000 had been paid as Income tax in this period and a dividend of 10% on equity shares paid in one of the years. For another year, the company incurred a loss of `80,000.

`4,500 out of the outstanding expenses is preferential. Bills discounted are likely to be dishonoured to the time of `8,000.

Prepare Statement of Affairs and Deficiency Account on the basis that the company decides on a voluntary liquidation.
----------------------
[P.T.O.]





[P.T.O.]
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